Hari : Tarikh :

Tambah.

D 2 + 7 = M 4 + 5 =
2) 4% + 0 = 2) 6 + 3 =
) 3+ 3 = 3 7 + 6 =
Y 2 4+ 8 = M 4 + 9 =
5 5 + 5 = 5 2 + Y4 =
&) 7 + 7 = 6) 5 + 9 =
7) 4 + 9 = 7) 8 + Y4 =
8) 8 + 3 = 18 5 + 6 =
B 6 + 2 = @ 9+ 4=
0 1 + 7 = 200 6 + 7 =
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Tolak dan tuliskan jawapan yang betul

¥

Yy LE-E= 11.8-3 = S
D)
N 2.4-4= 12.6-6 = &
) 3.6-U= 13.7 - 3= C
D)

D L4.8-7-= . 104 =

b

Y Bb-8= 5.11-5 = C
D)

) 6.6-1= 16. 14 - 2 =
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) 7.5-5= 17.15-5 = ¢
D) :
! 8.9-6= 18.10-9 =

B s g ¢
S 9.5-2 = 19.14-0 ..
! 07-2 = 20.19 - 2=
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